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To divide algebraic rational expressions, multiply by the reciprocal of the
divisor (the second fraction).

Find each quotient. Assume that no denominator has a value of 0.

3. � 4. 10bc2 � 5. �

6. � 7. � 8. � (b � 5)
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Dividing Rational Expressions  (Pages 660–664)
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� Factor. Then divide by the common factor x � 2.

� or Multiply.
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Try These Together
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HINT: First rewrite, multiplying by the reciprocal of 
the second fraction. Then divide by the greatest HINT: The reciprocal of a � 5 is .

common factor.
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